M8 [i%-f< BV R AN 3

B 4 A 1 # 886-3-5753170
JEFE 7 (i) 86-21-34970699
W4 7 TG 86-755-83298787

Http://www. 100y. com. tw

1 i

@ HIRL

M8 1 i i 2!

MBRLELE R B, ¥, H,

Male cable connector, screw

434

Mg, 7L, H, EES
Female cable connector, screw

L |

411

T f Yy
084355 \sru uts.s-s.'F \sv 1
- e D w Y , S
R~TA RTE

MBEt{iEA-code 3,405  # miT ® & MBFL{IEA-code 3,48 § & i1 # &
contacts | ordering-number contacts | ordering-number
3 |C08-11210-3P ST 3 |C08-11210-35
@ 4 |co8-11210-4p @ 4 |cos-11210-45

Male angled connector,

MBT fiEiE e, ¢, Eigm

sCrew

[MeTfmigizis, 7, EigE
Female angled connector, screw

-3 ‘
|
Z =
o
£geLs-s)  \srm RIH ‘“3-5'5,«! \Sr i RYH
MBHHIEA-code3 4 H m b s 8 MBFL{IEA-code3 4t H &)\ L% 2
3 C08-21111-3P l o = 3 C08-21111-35
@ 4 lcog-21m11-4p | 4 [C08-21111-45



user
新建印章


M8Z 51| i i B

MBS, o, H 048
Male cable connector, solder

MBmZEEE, 7L, A, 08
Female cable connector, solder

45 ] ~40 |
el A E - = -
= -
- \
ggga,s-s.‘ \SY 11 4355 Y8V 11
R~TH R~THE
MB¥tH{iEA-code 3,4,6,87%, Y ity | s acibe M8FL{Z EA-code 3,4,6,81%, LT IR S
B-code 5 3 | Cos-11311-3p B-code 5ith 3 | Cos-11311-38
4 | cos-nan-ap 4 |cog-man-as
4 6 | cos-11211-6p o Oh A2 R e® o 3 & | €08-11311-65
2 | cos-11311-8p £ o o ’°'°° e & 8 | C08-11311-85
= " 5 | cos-nannsee " 5 5 | cos11311-558

MBT mikig s, o, Mg
Male angled connector, solder

MBTfEEE, 7, M
Female angled connectar, solder

CO8-21311-5P-8

-3
. - = j|' =| =
S e
]
: R~tE RHE
LY TERE s
—
MB§HiEA-code3,4,6,8%, Ml |fiwodmse || MBILIEA-c0de3,4,68%, Ll |licioghums
B-code 51 3 | Cos-21311-3p B-code 51t 3 | CoB-1311-35
4 | cos2i3niap 4 | coa2131145
6 | C08-21311.6F LRSS n:m 6 | C08-21311.65
8 | cos21311.8p 7 0® 0/ Co ol Lo 8 | C08-2131185
o B 2 . 5 | COB-21311-558

M8 A3 EEERAS Y

GE ] 3 4 5 6 8 Number of contacts
HERN = focrew Connector locking system
A WITER. Hiscew. solder I #42/solder Termination
EE i #0255 % %max.0.25mm’ | B0k /max0.14mm! Wire guage
M 35-5mm Cable outlet
e P67 Degree go protection
P >100HE AR >100 mating cydes Mechanical operation
TIERE (25" -85 ) temperature range
BERE 60V E 30V ET Fatedvorage

WOAGEE 1500V 800V Rated impuse valiage
EET 3 Pollution degree
RS I Overvoltage categorie
SEHRY] L] Material group

WEuR @40 ) 3 [ 158 Rated urent(40” )
R <=3m0){/gold) Contact resistance
B Wii/brass Material of contact
BARERE fit/gold Contact plating
S BEPA Material of contact body
SRR ER/PA Material of housing
it A A [B [A [A codding key




MBIEHE S BT R

iT, & ®
ordering-number $ - 8
3 C08-11311-3P contacts | ordering-number
4 | C08-11311-4P 3 €08-11311-35
6 C08-11311-6P 4 C08-11311-4S
8 C08-11311-8P 6 | C08-11311-65
5 C08-11311-5P-B 8 C08-11311-85
5 C08-11311-55-B
~ 45
] ——
] =
=] e i
‘ B B = o~
[ =]
- =S
A $3.5-5 S¥ 11 *
— BEALR~THE
,..4[}
—-- —-_
-
= = -
— =
B4 ¢3. 5-5 S¥ 11

BE&IRTHE



5 o
)
.

\ o

i BT % 2
Egntagtis éherinfnumh?r contacts Drdering-numh?r
3 C08-21311-3P 3 C08-21311-3S
4 C08-21311-4P 4 C08-21311-45
6 C08-21311-6P 6 C08-21311-65
8 C08-21311-8P 8 C08-21311-8S
5 C08-21311-5P-B 5 C08-21311-55-B
~ 36
—-* —-_
i "%@ —
< =B =
4
TALRSTHE

%ﬁ;m.m/ S¥ 11

- 14
H§X1
012

TELRTE




-1.75

1.75

LD =

-1.70[-0.50

-1.08

1.70|-0.50|

[ 2=

1.08

-1.37(-1.32

1.37[-1.32

1.75

-1.75

@ en | b (] p =

-0.90

0.90

1.85

1.45

-1.45

-1.85|-

Wi~ (@[] M=

-1.70

-0.35

-0.98

1.45

1.70

-0.35

0.98

1.45

(b=

-1.35

40O O2

£)
SOO

1.75

-1.75

| R =

1.70

1.08

-1.70

B | R =

-1.08

1.37

-1.37

-1.75

1.75

@M=

0.90

-0.90

-1.85

-1.45

1.45

1.85

Qo= ||| | QOB

1.70

-0.35

0.98

1.45

-1.70

-0.35

-0.98

1.45

D | B =

-1.35




M8 5! B# i 2

MBLEEIEE, i, WHE, N Mem R, L, W, N
Male cable connector, shieldable, solder Female cable connector, shieldable, solder
| ~ 48 ~ 43 1|
o
= :1 AN\ =| =
= - = e
!
el 55 2
R @ 4355 R+<E
MB$HIZEA-code3,4,6,8%, Ml |Tunihnss || MSFLILEA-cOde3,4,68%, Bl | Tudhmst
B-code 5% 3 |cos-113z1-3p B-code 5i% 1 | cos-n3n.as
4 | COB-11321-4P 4 | COB-11321-48
! 6 | COB-11321-6P A0 0B A0 B Ao B o ) 6 | COB-11321-68
& | CoB-11321-8F Q i ”"’U"’ e 8 | cos11321-85
= . 5 | COB-11321-5P-B = o 5 | cos11321.55.8
MBI, o, WHE SRR MBHLEIEE, Tl WRE, RTER
Male cable connector, shieldable, screw termination Female cable connector, shieldable, screw termination
53 — 18 =
/
084355
R~TE
= “H : = - :
MBHH{IEIA-code3,4i5  H M| LK S MBFL{IEA-code3 ik B BT LK be
3 C08-11121-3P o = 3 C08-11121-35
@ @ 4 C08-11121-4P 4 C08-11121-45

E] 4 5 [ [] Number of contacts
BESL Wi R fscrew Connector locking system
BHAR MATE . % screw. solder | Mg /solder Termination
R £ 025 5 % ¥ /max.0.25mm’ | % 00457 & # /max.0. 1 4mm Wire quage
HLIE B 2 15-5mm Cable outlet
CEE T P67 Degree go protection
[T 10038 W W/ >100 mating cycles Mechanical op eration
TiEEE (25" - 85" ) temperature range
BERE 60V [3ov 30V [3ov [30v Rated voltage
BEFHNE 1500V | 800V Rated impulse voltage
mRYE i Pollution degrea
HREPES ] Overvoltage categorie
Lk R L] Material group
BERN (407 ) 3A | 154 Rated current(40” )
ERUE <=3m (& /gold) Contact resistance
L Will/brass Material of contact
BaEEHE it /gold Contact plating
HEHE BAMA Material of contact body
hRHE EB&PA Material of housing
it A | & | |A codding key




MBiEHk=s %A £€/8

E:gnlac;ti gdemé?numbﬁ E:ntacﬁ éldeméﬁnumbg
3 CO8-11321-3P 3 C08-11321-35
4 | C0B-11321-4P 4 | COB-11321-45
6 | C08-11321-6P 6 | C08-11321-65
8 COB-11321-8P 8 C0B-11321-85
5 | C08-11321-5P-B 5 | C08-11321-55-B

~4§ "
w5 03.5-5
~43 o

T TINE
BEEEARTE



# B0, " 5 # B & B

contacts | ordering-number contacts | ordering-number
3 |C08-11121-3P 3 [C8-11121-35
4 [C08-11121-4P 4 C08-11121-45

~ 46

]
N8X1
$14

203,58
EZREEXRTHE



i = PRI

M8E=FE, §t, FERIZLIMEX1, 1B

Male panel mount connector, front fastened with M8 X 1,solder

R~T &

o 3.5

l
& =]
=
=
|| —
1—|I v i
- i (2]
L= —
= wy
LR i

_/ & w AN

=

M8%t{iIEA-code 3,4,6,8it,
B-code 51t

§t

ol

contacts

i, % o
orderi ng-numb?r

3

C08-12321-3P

C08-12321-4P

C08-12321-6P

C08-12321-8P

oo || &

C08-12321-5P-B

M8iE=[E, §t, FERIELMSXT, RIE

Male panel mount connector, front fastened with M8 X 1, dip solder

17 4.5

1 )

J—

1)

M8X1

$11.5/S¥ 10mm

R~TH

x|
-




MB%""EI:@A-COC’E 3,4,6,8?13.:, gntaﬁ% Ederingﬁ—numb?r
B-code 51t 3 | cos-12421-3p
C08-12421-4P
C08-12421-6P
C08-12421-8P
C08-12421-5P-B

||| &

M8iE=FE, §t, FEERTIRLIM8X1A] T i
Male panel mount connector,front fastened with M8 X 1,
with shielding shze_fet o

M8X1
L
| |
LI_
0.6
§12 6/8¥ 120

R~ E

(= - . -L% =
MB%"‘{M_ A'COde 3141618’c"; gmntac%cis Erdering—numb?r
B-code 5:t: 3 | C08-12425-3P

4 | C08-12425-4P
i : i 6 | C08-12425-6P
8 | C08-12425-8P
a 5 | C08-12425-5P-B
with single wires 17 L
1
o '
== "I | - - b
: e
\__ L




MS"E-'['{EA'COCIE 3,4,6,8;{";, ?Jcrmtac% jlqr-deringﬁ-numb-:qr
B-code 51t 3 | c08-12521-3p-L
C08-12521-4P-L
C08-12521-6P-L
C08-12521-8P-L
C08-12521-5P-B-L

wn|lo|lo| s

M8E =, ¥, ERIBAMSXTIAIF R, Tk
male panel mount connector,front fastened with M8 X1
with single wires, with shielding sheet

1
N 'y
o
o | L __rm"“‘?"_ e
= _.J_ 5
=
R=F
MB%+{EEA'C0de3,4,6,8;E:, Eintac% iél]r-dering%inuml:.l-.slj?r
B-code 57t% 3 | C08-12525-3P-L

C08-12525-4P-L
C08-12525-6P-L
C08-12525-8P-L
C08-12525-5P-B-L

nio|lo|s

M8E=FE, tf, ERBLMEX0.5, B
17 0

=
==
MEIUES

$11.5/S¥ 10mn
M8X1

R~T &




MSﬁ'ﬁ'E @A'COdE 3,4,6,8?1-!'.:, Ettntac% E{derinéﬁnumbﬁ

C08-12322-3P

C08-12322-4P

C08-12322-6P

C08-12322-8P

B-code 51 3
4

; 6

8

=] 5

C08-12322-5P-B

M8E=FE, fL, ERTELMI2X1, B

Female panel mount connector, front fastened with M12x 1,solder

16 %3
4,5

—

M12X1/S¥ 10anm
H8X1
$13.8

|

MB?L{E A-COde 3!41 618:'1'-‘4;: Ezntac% i(El-lr-dering‘;}:!numl:u?r
B-code 5% 3 | co8-12323-35

C08-12323-4S5

C08-12323-65

O4\ 40 O2
§ 9\ @9

C08-12323-85

oo |oh| &

C08-12323-55-B

M8iE=FE, 7L, [ERTEEIM12X1, =18

Female panel mount connector, front fastened with M12Xx 1, dip solder

|
16 4.5

M1231/SK 10na
K811
e
0. 6|
913.8




M8FL{LElA-code 3,4,6,81t, SN

#

i % 5
o-lr-dering-numb:.;_r

B-code 5ith

SRRV S

o O

3 1 %) 9 206001
-

3 C08-12423-35
4 | C08-12423-4S
6 C08-12423-65
8 C08-12423-85
D C08-12423-55-B

M8EZ=FE, flL, EEATERLIM10X0.757 F Bk

Female panel mount connector, front fastened with M10X0.75,

dip solder, with shielding sheet
16 {5,

]

=i

i__

T
_L :

N8X1

Y10%0,75/8Y Yam
$12.6/SV 12mm

Ml

e —— e

R~TH

M8FL{IEA-code 3,4,6,8:%:, St

5

iT, 5 5
ordering-number

B-code 53t 3 | C08-12427-35
4 | cos-12427-a5
O4\ 4O 02 6 | C08-12427-65
§ 9o ¢ 8 | c08-12427-85
5 | C08-12427-55-B

M8E=RE, FlL, EERTBOIMI12X1, 4k

Female panel mount connector, front fastened with M8 1,

with sinqle wires
16 L

4.5

¥12X1/S¥ 10ma
M8X1
| .
$13.8




M8¥[‘1§' @A-COde 31'4!6!8:5:;: Egntac% 1‘tfiﬁ{tierim_:f']%:nc.lmb':'?lr

B-code 57t 3 | C08-12523-35-L
C08-12523-45-L
C08-12523-65-L
C08-12523-85-L

|| b

C08-12523-55-B-L

M8iE=FE, FlL, FEEATMELIMI0X0.75R % R, w&
female panel mount connector,front fastened,
with single wires, with shielding sheet

16 L
2
E - s E__
= = ‘T =
= E LT 5
= | = X =
= — _J_ LS
E R A g___
R~THE
MB?L{EEA'COdE 3:416.'8;"3;: ﬁgntac% Hderinﬁnumbﬁ'
B-code 5it: 3 | C08-12527-35-L

C08-12527-45-L
C08-12527-6S-L
C08-12527-85-L
C08-12527-55-B-L

04\ AO ON /3 © & 40 O3
e
3 1 )\@ @ 205001 5OO
3

|||

M8, flL, ERELM8EX0.5, Ei%

16 3.5

L

$9.7
N8X1

MEX0. 5

5 Wi &
-
¢ 11. 5/S¥ 10an

i |




a7 1

MB}’L{EA-COde 31'4!6!8?6‘:! ?:Entat:ts grderiné?number
B-code 5% 3 | co8-12324-35

C08-12324-55-B

4 | cos-12324-45
O+ 4O ON /5 © & 40 O3 6 | C08-12324-65
g WS, 9H R o, 0.0 8 | C08-12324-85
[
5

et L

M8, §t, EERBLMI10X0.75, 1R

17 3.5
i
= a
i
= =t [l HI Q= 2
3| S RHL s
M8%t{i[EA-code 3,4,6,8:%, Lt | i
B-code 5t 3 | C08-12326-3P

C08-12326-4P
C08-12326-6P
C08-12326-8P
C08-12326-5P-B

nijiwio|s

M8, 3, ERIBLMSEX0.5, F

17 L

2
=a |
=]
-
i 1
= -dJ i1 — I.ni
Tra el A o
S =0 vl
ey =] oo
‘ | a2l = |
—r s
-EI




MB%.I_{E ElA-code 31'4!6!8?6;: gntaé% T.n:')Trderin51;':1;1.1mb:e’:;:'
B-code 51t 3 | C08-12522-3p-L
C08-12522-4P-L
C08-12522-6P-L
C08-12522-8P-L
C08-12522-5P-B-L

oo | O |

M8, £, EERBLMI0X0.75, Hik
17 L

= =

i :__

& | = \\ e

S | = e

S| S|

- areee]

=4
R~ HE

MB%I_{TL A"COde 3,4,6,8?{5‘:, E;ntac% Tt’)Trc:iaringij—inumbﬁe';r
B-code 57 3 | C08-12526-3P-L

C08-12526-4P-L
C08-12526-6P-L
C08-12526-8P-L
C08-12526-5P-B-L

CIEIE

oo | o)

M8, 7L, ERELMI10X0.75, 18

16 9

=

$12.6/8¥ 12am

$9.7
NEX1
L 1]

M10X0, 75/S¥ Jan




MS?L‘EE A‘COde 3;4:618;:221 f:gnta:% yrderinfnumb?r

B-code 51t

3 C08-12328-35
4 C08-12328-45
6 C08-12328-6S
8 C08-12328-8S
5 C08-12328-55-B

M8, FlL, ER#ELM8X0.5, HE

1 L

]

T
"J=*-*

R~TE

$9.7
L1
X9, 5

$11.5/8¥ 10an

M8¥L1§- @A'COde 3;4;6; 8-'+L‘-.;r Eintac% 1té-]r-c:ls_-rin;;jﬁ‘—fnumbj::-"_.r

B-code 5ith

04\ A0 O2 40 Q2
? C1) 9 Q 500

3 C08-12524-35-L
4 C08-12524-45-L
6 C08-12524-65-L
8 C08-12524-85-L
5 C08-12524-55-B-L

M8, FL, ERBELMI10X0.75, ik

16 L

$12.6/SY 120
$9.17
M8X1
[ 1111
{ r |
M10X0 Tgf“ I?n
|




M8¥L1ﬁ EA-code 3,4,6,8?[‘.’.:, ﬁ;ntanﬁ Hderint_ﬁumbﬁ
B_code S;HIL: 3 C08-12528-35-L

C08-12528-4S-L
O4\ 40 O
O OJlo o
3 1 3 i

C08-12528-65-L
M8 RIIEZEHASY

%]

C08-12528-85-L
C08-12528-55-B-L

nlo|lo | b

ith 3 4 5 6 B Number of contacts
BRER B fsenew Connector locking system
BEAT B0, UGB, W H/dip solder, soldersingle wire Termination
BARE B 0.25% % %/max.0.235mm2 |8 0.14F % B4 imax 0. dmm2 Wire quage
REEE - Cable outlet
LT P67 Degree go protection
e 100 BB MM/ >100 mating cycles Mechankal eperation
IREm { (35 -85 ) temperature range
BELE 60V [30v [30v v [aov Rated voltage
BERELE 800V Rated impulse voltage
FRER 3 Pollution degree
HLRPHG Il Overvoltage categorie
figay Il Material group
wEnR (407 ) 3A | 154 Rated curmem{40” )
e <=3m0 (& /gold) Conactresistance
[CECL] 1 #/brass Material of contact
RALBHYE £ lgold Contact plating
HERH EEPA Material of contact body
HEHE AR, WEER/Zinc diecasting nikel plated brass nickel plated Material of housing
L] A [A 8 I Ia coding key

K= PEPE I

M8E=FE, §t, EERTBLMBX1, 1B
Male panel mount connector, front fastened with M8 X 1,solder
17 3.5
2
=]
—\ [=]
ol = <
— | m - e
- L] > o RNE o
L= =] —
= wy
U =1
-
R~ B
2 - : ¥ = =
MB{E-I_{EA'COde 3r4r6r8-'u"r Egntaciis 1ti.]r't;‘,lv’;*rir'u:'T;in|.in"|b'|e'?r
B-code 57t 3 | co8-12321-3P
4 C08-12321-4P
i 6 C08-12321-6P
8 C08-12321-8P
= 5 | cos-12321-5P-B




M8E=FE, ¥, ERIBLMEX1, B2
Male panel mount connector, front fastened with M8 X 1, dip solder

17 4.5
] 3
,_' Y
— — =
= ; _u_ -
__J e
R~THE
MS%"‘{EEA‘COdE 3!'41“6!'8?[-:":} Entaéﬁt; 1‘r:')Trde-rir:g—inurz'-tf;'
B-code 5t 3 | C08-12421-3p

C08-12421-4P
C08-12421-6P
C08-12421-8P
C08-12421-5P-B

v | o)

M8E=FE, §t, ERTESIM8X 17 5l
Male panel mount connector,front fastened with M8X 1,
with shielding ShieTEt

4,5
3
u——
¥
= iad =L
= _J_ - o
AR
)

R~ H

MS{E-I_{E @A'COde 3,4,6,8?{‘5, Ej;ntac% 1‘c":aTrn:itatrintz;}{—:nurnt;:j_:'
B-code 5t 3 [ C08-12425-3p

C08-12425-4P
C08-12425-6P
C08-12425-8P
C08-12425-5P-B

wnlee|lon| &




with single wires 17 L

2

= |

A~ E

=4 % e

i B =

e

R~THE

M8$+{EEA'COde3,4,6,SE, c%:gntacfﬂis ::er-derin;fnumbﬁ
B-code 5it% 3 | C08-12521-3P-L

C08-12521-4P-L
C08-12521-6P-L
C08-12521-8P-L
C08-12521-5P-B-L

||

M8iE=FE, §t, FERIBOMBX1AIF R, F
male panel mount connector,front fastened with M8X 1
with single wires, with shielding sheet

N8Il

il

R~TH

*12.6!5? llnlm

MB%']' {ﬁ @A-COde 314:6r8;ﬂ:r zf:ntacitt; iti-]r-derinu_;;gs-fnumb‘zl;r
B-code 57 3 | C08-12525-3P-L
C08-12525-4P-L
C08-12525-6p-L
C08-12525-8P-L
C08-12525-5P-B-L

Lo || &




M8E=FE, $t, ERBLIMEX0.5, 1%
17 A

$11.5/S¥ 10mn
M8X1
=
M8X0, 5

R~THE

M8%t{iL[EA-code 3,4,6,81%,
B-code 5:t:

it A
contacts

i7 5 b
ordering~numb§r

3

C08-12322-3P

C08-12322-4P

C08-12322-6P

C08-12322-8P

wvi|oo|oy | &

C08-12322-5P-B

M8E=EE, FL, EERTEEGIMI12X1, 1B#ZF

Female panel mount connector, front fastened with M12 X 1,solder

16 3.3
4,5

-

MY 1
$13.8

M12X1/S¥ 10mn

ghl

P

R~tE

MS8¥L{iZ[EA-code 3,4,6,81:,

B-code 51t

(O (o o Ad 40 03

3 1 %) L? 2060 01 50 2
i

st &
contacts

i, B =
ordering-number

3

C08-12323-35

C08-12323-4S

| C08-12323-6S

C08-12323-85

|||

C08-12323-55-B




M8E=E, fL, FEFiEaM12X1, 2

Female panel mount connector, front fastened with M12X 1, dip solder

I
16 4.5

3

2[‘_ :_.

0. 6]
$13.8

M8X1

H12X1/5K 10ma

:LI.S

R E

M8FL{L[EA-code 3,4,6,8:t,
B-code 5%

CoN\fo 2 £ 02 02 o) (40 02
. . (33 9 2001 3czooo; 500

oo || &

§
contacts

=

i £
]é]r‘dering-numhg

C08-12423-35

C08-12423-45

C08-12423-65

C08-12423-85

C08-12423-55-B

M8iE=FE, fL, FERTIRLIM10X0.757 7 Bt il

Female panel mount connector, front fastened with M10X0.75,

dip solder, with shielding sheet
16 {5,

3|

i

MEx1

I
"‘T—"i]l—r'
i
$12.6/5¥ 12mm

M10%0, 75/S¥ 9mm

-




MS?LE’: A'COde 3:41 6,8:3:, %gnta?é gderinfnumbﬁ
B-code 57+ 3 | c08-12427-35

C08-12427-45
QO O
3 1 % Q 2060 o1
)

oo o

C08-12427-65
C08-12427-85
C08-12427-55-B
M8k =, FL, FERTEEEIMI2X1, F4&
Female panel mount connector, front fastened with M8x1,
withsinglewires

16 L
4,5
=] )
[ —)
= | = T T =
o, m1 L :L _';_'
E ]
-3
= st
R~
e —4— : 2 Fies =
M8fL{iLEA-code 3,4,6,81%, ﬁgntac%. }:Trcierinc_:";x-‘numbg
B-code 57th 3 | C08-12523-35-L
4 | C08-12523-45-L
O4 \ A0 ©2 6 | C08-12523-65-L
§ {9 o 8 | C08-12523-85-L
5 | c08-12523-55-B-L

M8k FE, 7L, FERIZLIMI0X0.758 % RM, Wik
female panel mount connector,front fastened,
with single wires, with shielding sheet

16 L
1
==-;. o . E__
= = ‘T =
S| B 1 i
= &~ _J_ s
= ECO s
Rt E




e = 5.
M8FL{i[EA-code 3,4,6,81, Y | PieeinSunibg
B-code 5:th 3 | C08-12527-35-L

4 | Co8-12527-45-L
O4\ A0 O2 6 | C08-12527-65-L
2 9 Q 8 | C08-12527-85-L
5 | c08-12527-55-B-L
M8, 7L, FERFBLM8X0.5, §iE
16 3.5
2
= |
g__
=— I’ e —rrl—i—\ w :
o ot 2 = [
- | o= _J='_‘ E "‘:“*
-
R~ &
MS?L{E A'COde 3;4;6;8;5': gnta{% 1éuTrderin'_:jir—lnt.lmb?r
B-code 5t 3 | cos-12324-35
4 | C08-12324-45
O4\ AO 02\ /3 © 6 | C08-12324-65
® 9\ © 8 | C08-12324-85
5 | cos-12324-55-B

A =PFEPEID

M8, ft, EFRMELIM10X0.75, 18

17 NS
yi
= 29
2 A a
= = Jo e =
z) SCHIEE s
i | =1
R~THE
M8%t{iLElA-code 3,4,6,8it, bl B e riibe
B-code 5t 3 C08-12326-3P

C08-12326-4P
C08-12326-6P
C08-12326-8P
C08-12326-5P-B

njio(oh s




M8, £, EERIZ4IM8X0.5, &

17 L
1
a |
=5
=
L= Bl | L.C 1
S o0 -l
ey - = =
p | L =
:E;I
R~t
. -+ + £ =
MS%.I- {lL A"COde 3;4;6;8!5‘; Egnta{é% grdering_numbEr
B-code 51t 3 | C08-12522-3p-L
4 C08-12522-4P-L
9 6 C08-12522-6P-L
8 C08-12522-8P-L
= 5 C08-12522-5P-B-L

M8, $t, FEERIE4IM10X0.75, Hk

17 L

HEX1

rHHIE=

$12.6/5¥ 12nm

R~ E

|

N10X0.75/S¥ Yan

M8%t{iL ElA-code 3,4,6,8i%:,

B-code 5ith

I
contacts

42 =

iT
ordering-number

C08-12526-3P-L

C08-12526-4P-L

C08-12526-6P-L

C08-12526-8P-L

njiw|lo|s

C08-12526-5P-B-L




M8, 7., ERELM10X0.75 1%

16 3.5
1
g | 2
i - & N
o N e _Tﬁ;““ =
S|e| = N J:E‘ =
| =
R~ &
b == X g =
MS?L{H— A-COdE 3r4r618‘|5‘r ﬁgnta% 1tSTn:i:a‘rirang;]?Lnl.arnbjej_r
B-code 57t 3 | 081232835

C08-12328-4S
C08-12328-6S
C08-12328-8S
C08-12328-55-B

O4\ AO O2 540 8 40 O
LONE) .
3 7\ 9 % o Y0 O
1

vi|oo oy

M8, L, EEREELMSEX0.5, L

16 L
/
-
-
-
—_—
=| = ! S| 2
-2 E oo wy
--’ — == ot
‘_‘_—
-

R~THE

MS?[“L‘-‘Z @A-COde 3141'6:8?'-\4;: Egntacgtjs iti-Jr-l:leringﬁ‘-énumb-:'%r
B-code 5:t: 3 | C08-12524-35-L

C08-12524-45-L
04\ 40 O2 840 ) 40 O
o 0 ,
4 ! 30 C1) 2OEO O1 50 O
3

C08-12524-65-L
C08-12524-85-L
C08-12524-55-B-L

v | o)




M8, 7., FEFHELIM10X0.75, Wik
16 L
!
=] S
T RE
o o |\ o] | —
Sle | = = E
= 1 A || =l
2 =
R~T
. -+ OB iT % S
M8¥L{i ElA-code 3,4,6,8its, contacts | ordering-number
B-code 5t 3 C08-12528-35-L
4 C08-12528-45-L
04\ 4O O\ /3 © 3 40 O3 6 | C08-12528-65-L
FO% QA O\, O 5© 8 | C08-12528-8S-L
= 5 C08-12528-55-B-L
M8 RIEZERASY
it 3 4 5 ] 8 Number of contacts
BRAR AR iscrew Connector bocking system
BRAR WA, VR, B /dip sokser, soider,single wire Termination
BREE B 0.5F A EF/max025mm2 TH% 0IAF AR X Imax 0. 14mm2 Wite quage
BEER - Cable outhet
T 3] Degree go protection
e >100 MMM/ >100 mating cycles Mechanical aperation
IRER (25" -85 ) temperature range
HELE 60V 30 [3av [Bv 3o Ratedvollage
[EETTT: 800V Ratedimpuke valtage
L ] Pallution degree
ANEPrFE I Overvoltage categorie
LT [ Material group
TERR (407 ) 3A | 154 Rated current(40” )
T <=3nf (& /gold) Contact resistance
BARE o #/brass Materialof contact
ETT T 2 Jgold Contact plating
HEHE ERIPA Matenalof contact body
HEUE W, WREETin diecasting nikel plated brass nickel plated Material of housing
B A I [8 [A [ coding key

B 4% A # 4 886-3-5753170

JHE 5 ) FLF- () 86-21-34970699

JHE S 1) BT () 86-755-83298787
Http:,

www. 100y. com. tw



user
新建印章


